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(Newton’s Third Law)
1
Complete the following sentences.


A force acting a body is always the result of interaction with another body, so forces always come in p_____. Experiments show that whenever two bodies interact, the two forces that they exert on each other are always e_____ in mag_______ and opp _____ in dir_______. This fact is called Newton’s Third Law of Motion.


If body A exerts a force on body B (known as ac______ or FAB),then body B exerts a force on body A (known as re________ or FBA).These two forces have the same m___________ but are opp_________ in direction. These two forces always act on di___________ bodies.





          FAB = ______


This action-reaction pair is not mean to imply any cause-and-effect relationship because we can consider either force as the “a_______” and the other as “r_________”

Newton’s Third law holds regardless of whether the bodies are st________ or m_______ or in c_________.


Two forces that act on the s____ body are not action-reaction pair, even though they may be e______ in magnitude and opp________ in direction. These forces are known as eq_________ forces.

2
Draw the action and reaction forces in the following situation.
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3
Which of the following statements relating to Newton’s third law of motion is not correct?
	A
	The two forces are always opposite in direction.
	

	B
	The two forces are at all times equal in magnitude. 
	

	C
	The two forces are equal and opposite so the bodies are in equilibrium.
	

	D
	The two forces must be of the same type.
	(      )


4
A man is parachuting at constant speed towards the surface of the earth. The force which according to Newton’s third law, makes action-reaction pair with the gravitational force on the man is 
	A
	the gravitational force on the Earth due to the man.
	

	B
	the tension in the harness of the parachute.
	

	C
	the tension in the fabric of the parachute.
	

	D
	the air resistance on the man and his parachute.
	(      )


5
Which one of the following pairs of forces is not valid a valid example of action and reaction to which Newton’s third law of motion applies?

	A
	the centripetal force holding a satellite in orbit round the earth and the weight of the satellite
	

	B
	the forces of attraction between and electron and proton in a hydrogen atom
	

	C
	the forces of attraction felt by each of two gas molecules passing near to each other
	

	D
	the repulsion between an atom in the surface of a table and an atom in the surface of a book resting on the table
	(      )


6
When a man is standing in an ascending lift, the magnitude of the force exerted by the man’s feet by the floor is always

	A
	equal to the magnitude of the force exerted on the lift floor by his feet.
	

	B
	equal to the magnitude of his weight.
	

	C
	equal to what it would be in a stationary lift.
	

	D
	Greater than it would be in a stationary lift.
	(      )


7
A car tows a small trailer behind it. If the forward pull of the car on the trailer is equal to the backward pull of the trailer on the car, explain how can either body accelerate? 



They can accelerate because
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